

Republic of the Philippines
Department of Agriculture
BUREAU OF SOILS AND WATER MANAGEMENT
SRDC Building Elliptical Road corner Visayas Avenue,
Diliman, Quezon City 1101
customers.center@bswm.da.gov.ph
Tel. no. (632) 8273-2474 local 3202

## NOTICE OF AWARD

## **DELON P. VENTURINA**

Proprietor D.P.V. Forest Tree and Fruit Bearing Tree Farm 137 Curva, Puncan Caranglaan, Nueva Ecija

## Dear Mr. Venturina:

We are pleased to inform you that your bid dated February 13, 2025 for the execution of the contract for the Re-Bid of Supply and Delivery of various Agricultural Inputs, supplies and materials for FY 2025- IB No. BSWM 2025-01-029 Lot 11 (PhP 360,600.00) and Lot 13 (PhP 399,000.00) with a total Contract Price equivalent to Seven Hundred Fifty Nine Thousand Six Hundred Pesos (PhP 759,600.00) undertaken through Public Bidding being the Single Calculated and Responsive Bid (SCRB) has been accepted.

LOT	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
11	SCMD: Seeds and Seedlings				
	SCMD   2025-00-0023   REGULAR				
	Banana (Saba), Tissue Cultured, at least 30 cm in height	seedling	120	95.00	11,400.00
	Calamansi	seedling	45	90.00	4,050.00
	Avocado (evergreen/lagkitan variety)	seedling	40	150.00	6,000.00
	Dalandan	seedling	45	95.00	4,275.00
	Chico (Ponderosa)	seedling	40	150.00	6,000.00
	Bamboo (Iron Bamboo/ Guada Bamboo)	seedling	80	150.00	12,000.00
	SCMD   2025-00-0023   RD OTHER				
	Banana (Saba), Tissue Cultured, at least 30 cm in height	seedling	150	95.00	14,250.00
	Banana (Lakatan), Tissue Cultured, at least 30 cm in height	seedling	150	95.00	14,250.00
	Calamansi	seedling	175	90.00	15,750.00
	Dalandan	seedling	175	95.00	16,625.00
	Chico (Ponderosa)	seedling	175	150.00	26,250.00
	Dwarf coconut	seedling	105	200.00	21,000.00
	Lemongrass slips	slip	500	5.00	2,500.00
	Okra (smooth green), 100g/can	can	6	250.00	1,500.00







Page 1 of 4

ISO/IEC 17025: 2017

LA-2016-299B ATEL-1-1021-299B Laboratory Services Division

LA-2023-423A Soil and Water Resources Research Division

Kalabasa (suprema), 50g/can	can	5	1,200.00	6,000.00
Sitaw (pantastiko), 100g/can	can	3	500.00	1,500.00
Ampalaya (mestisa), 50g/can	can	2	2,500.00	5,000.00
Talong (fortuner) 50g/can	can	2	3,000.00	6,000.00
To be delivered in Dinalupihan, Bataan (1)				
Delivery Requirement: May 2025				
Banana (Saba), Tissue Cultured, at least 30 cm in height	seedling	150	95.00	14,250.00
Banana (Lakatan), Tissue Cultured, at least 30 cm in height	seedling	150	95.00	14,250.00
Lemongrass slips	slip	500	5.00	2,500.00
Okra (smooth green), 100g/can	can	6	250.00	1,500.00
Kalabasa (suprema), 50g/can	can	5	1,200.00	6,000.00
Sitaw (pantastiko), 100g/can	can	3	500.00	1,500.00
Ampalaya (mestisa), 50g/can	can	2	2,500.00	5,000.00
Talong (fortuner) 50g/can	can	2	3,000.00	6,000.00
m. l. d.li. D.t. (2)				
 To be delivered in Bataan (2)				
Banana (Saba), Tissue Cultured, at least 30 cm in height	seedling	150	95.00	14,250.00
Banana (Lakatan), Tissue Cultured, at least 30 cm in height	seedling	150	95.00	14,250.00
Calamansi	seedling	175	90.00	15,750.00
Avocado (evergreen/lagkitan variety)	seedling	175	150.00	26,250.00
Lanzones (Longkong)	seedling	175	150.00	26,250.00
Rambutan (Duku)	seedling	175	90.00	15,750.00
Lemongrass slips	slip	550	5.00	2,750.00
Lettuce (Green Leaf/Curly green), 250g/can	Can	2	500.00	1,000.00
Cabbage (Green gold), 50g/can	can	2	1,700.00	3,400.00
Kale (approximately 75 seeds/pack)	pack	6	100.00	600.00
Bok Choy (choy F1), 100g/can	can	2	800.00	1,600.00
Okra (smooth green), 100g/can	can	6	250.00	1,500.00
Kalabasa (suprema), 50g/can	can	2	1,200.00	2,400.00
Sitaw (pantastiko), 100g/can	can	3	500.00	1,500.00
Ampalaya (mestisa), 50g/can	can	2	2,500.00	5,000.00
Talong (fortuner) 50g/can	can	1	3,000.00	3,000.00
To be delivered Pangil, Laguna (1)				
Delivery Requirement: May 2025			Subtotal	PhP 360,600.00



LOT	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
	SCMD: Agricultural Supplies and				
13	Materials				
	SCMD  2025-00-0023   RD OTHER				
	Blue Plastic Drum w/ Cover (200 liters capacity)	рс	3	1,000.00	3,000.00
	Drum/Totebin (1,000 liters capacity)	рс	2	6,000.00	12,000.00
	Hog Wire (H-#14,V-#16, H=47", 40yards/roll, 9 Hole)	roll	32	2,000.00	64,000.00
	HDPE Pipe SDR 11, 1inch, 100m/roll	roll	4	5,500.00	22,000.00
	U-nail (1 1/4 inch)	kg	7	200.00	1,400.00
	Tie Wire (Gauge #16)	kg	15	100.00	1,500.00
	Turn Buckle (6 inches)	рс	3	200.00	600.00
	To be delivered in Bataan (1)	1			
	Delivery Requirement: May 2025		1		
	Blue Plastic Drum w/ Cover (200 liters capacity)	рс	3	1,000.00	3,000.00
	Drum/Totebin (1,000 liters capacity)	рс	2	6,000.00	12,000.00
	Hog Wire (H-#14,V-#16, H=47", 40yards/roll, 9 Hole)	roll	32	2,000.00	64,000.00
	HDPE Pipe SDR 11, 1inch, 100m/roll	roll	4	5,500.00	22,000.00
	U-nail (1 1/4 inch)	kg	7	200.00	1,400.00
	Tie Wire (Gauge #16)	kg	15	100.00	1,500.00
	Turn Buckle (6 inches)	рс	3	200.00	600.00
	To be delivered in Bataan (2)				
	Delivery Requirement: May 2025				
	Blue Plastic Drum w/ Cover (200 liters capacity)	рс	3	1,000.00	3,000.00
,	Drum/Totebin (1,000 liters capacity)	рс	2	6,000.00	12,000.00
	To be delivered Pangil, Laguna (1)				
	Delivery Requirement: May 2025				
	SCMD  2025-00-0018   MANILA BAY				
	Power Sprayer, Gasoline 6.5Hp with accessories and base frame		2	14,500.00	29,000.00
	Power sprayer hose (100m/roll, 2 ply power spray hose with fittings)		4	7,500.00	30,000.00
	Grass Cutter, 4-stroke gasoline		6	14,500.00	87,000.00
	To be delivered in Bataan (2)				The second secon
	Delivery Requirement: May 2025				
	Grass Cutter, 4-stroke gasoline		2	14,500.00	29,000.00
	To be delivered in Laguna				
	Delivery Requirement: May 2025			SUBTOTAL	PhP 399,000.00
	Grand Total				9,600.00

Pursuant to Section 39.1 of the Implementing Rules and Regulations of Republic Act 9184, you are hereby required to **provide within ten (10) calendar days** from the receipt of this notice, a **Performance Security** and **signed Contract Agreement**. The Performance Security shall be denominated in Philippine Pesos and posted in favor of the Procuring Entity in an amount not less than the required percentage of the total contract price in accordance with the following schedule:

Form of Performance Security	Amount of Performance Security (Not less than the Percentage of the Total Contract Price)
(a) Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Five percent (5%)
(b) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five percent (5%)
(c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security. Together with the surety bond, a copy of a valid Certification from Insurance Commission must be submitted by the bidder which must state that the surety or the insurance company is specifically authorized to issue surety bond.	Thirty percent (30%)

Failure to provide and comply the above-mentioned requirement shall constitute sufficient ground for the annulment of the award and forfeiture of the bid security.

Very truly yours,

Digitally signed by Nilo Gina Parde
DN: cn=Nilo Gina Parde,
DN: cn=Nilo Gina Parde,
Director, Gill Signed
Director, C=Pynice Araulo
Director, C=Pynice Araulo

I acknowledge receipt of this Notice on: Name of the Representative of the Bidder: Authorized Signature: 03-17-2025 DEZON P. VENTMEMA

Page 4 of 4